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Capacitance  and dielectrics:

Exercise 1:

 Determine the equivalent capacitance of the combination shown when C = 12 pF.
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 Exercise 2:

Determine the energy stored in C2 when C1 = 15 μF, C2 = 10 μF, C3 = 20 μF, and V0 = 18 V.

[image: ]

Exercise 3:

A parallel-plate capacitor has plates of dimensions 2.0 cm by 3.0 cm separated by a 1.0-mm thickness of paper. (κ =3.7 for paper)

(A) Find its capacitance.
        (B) What is the maximum charge that can be placed on the
       capacitor?
                  





Exercise 4:

Find the equivalent capacitance between points a and b for the group of capacitors connected as shown in Figure below. Take C1 =5.00 µF, C2 = 10.0 µF, and C3 = 2.00 µF.
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If the potential difference between points a and b is 60.0 V, what charge is stored on C3?
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